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1. The circuit is complete : a current flows. 2. The circuit is broken : no current flows
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1.
In diagram 1, a current is flowing because there is a
complete circuit.
Colour the path of the current in red.

2.
In diagram 2, no current is flowing. Why is this?

3.
Cut and stick the diagram in your exercise book.

4.
Copy and complete :
In diagram 1, the current can flow from the __________,
because there is a complete __________.
This causes the __________ to become magnetic, and it
attracts the soft-iron __________.
This makes the __________ hit the gong.


However, it also causes a __________ in the circuit at
the position marked X (see diagram 2). This stops
the __________ from flowing and so switches ______
the electromagnet.

5.
In your own words, describe clearly :


a)
what happens next, and why;


b)
why the bell goes on ringing until the ‘bell-push’
switch is opened.

6.
Why would it not work well if both the core of the
electromagnet and the armature were made of steel?
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